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Factoring by Grouping 

 Factor each completely. 

1) 18𝑥𝑦 − 24𝑥 + 3𝑘𝑦 − 4𝑘 = 

2) 12𝑥𝑦 − 10𝑥 + 6𝑛𝑦 − 5𝑛 = 

3) 15𝑛ଷ + 10𝑛ଶ + 6𝑛 + 4 = 

4) 9𝑢ଶ𝑣 + 36𝑢ସ − 6𝑢𝑚𝑣 − 24𝑢ଷ𝑚 = 

5) 24𝑛ସ + 8𝑛ଷ + 36𝑛ଶ + 12𝑛 = 

6) 16𝑢𝑣 − 8𝑢ଶ + 24𝑏𝑣 − 12𝑏𝑢 = 

7) 2𝑥ଷ + 6𝑥ଶ + 9𝑥 + 27 = 

8) 4𝑥ଷ + 16𝑥ଶ + 8𝑥 + 32 = 

9) 3𝑚ଷ − 3𝑚ଶ + 6𝑚 − 6 = 

10) 3𝑥ଷ − 9𝑥ଶ − 18𝑥 + 54 = 

11) 6𝑝ଷ + 8𝑝ଶ −  15𝑝 − 20 = 

12) 18𝑚𝑐 + 8𝑚𝑑 − 9𝑛ଶ𝑐 − 4𝑛ଶ𝑑 = 

13) 16𝑥ସ + 32𝑥ଶ − 40𝑥ଶ − 80𝑥 = 

14) 8𝑥𝑤 + 10𝑘𝑥 + 12𝑦𝑤 + 15𝑘𝑦 = 

15) 25𝑥𝑦 –  10𝑥 +  15𝑟𝑦 –  6𝑟 = 

16) 3𝑥𝑦 –  6𝑥–  7𝑦 +  14  = 

17) 5𝑥ଷ − 40𝑥ଶ  +  2𝑥 − 16 = 

18) 18𝑥ଷ –  126𝑥ଶ  +  3𝑥 –  21 = 

19) 6𝑥ଷ + 21𝑥ଶ +  10𝑥 + 35 = 

20) 12𝑥ଷ + 36𝑥ଶ − 30𝑥 − 90 = 
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1) (6𝑥 +  𝑘)(3𝑦 –  4) 

2) (2𝑥 +  𝑛)( 6𝑦 –  5) 

3) (5𝑛ଶ + 2)(3𝑛 + 2) 

4) 3𝑢(3𝑢 –  2𝑚)(𝑣 + 4𝑢ଶ) 

5) 4𝑛(2𝑛ଶ + 3)(3𝑛 + 1) 

6) 4(2𝑢 + 3𝑏)(2𝑣 –  𝑢) 

7) (2𝑥ଶ +  9)(𝑥 +  3) 

8) 4(𝑥ଶ  + 2)(𝑥 +  4) 

9) 3(𝑚ଶ  + 2)(𝑚 –  1) 

10) 3(𝑥ଶ –  6)(𝑥 – 3) 

11) (2𝑝ଶ –  5)(3𝑝 +  4) 

12) (2𝑚 – 𝑛ଶ)(9𝑐 +  4𝑑) 

13) 8𝑥(2𝑥ଶ –  5)(𝑥 +  2) 

14) (2𝑥 +  3𝑦)(4𝑤 +  5𝑘) 

15) (5𝑥 +  3𝑟)(5𝑦 –  2) 

16) (3𝑥 –  7)(𝑦 –  2) 

17) (5𝑥ଶ + 2)(𝑥 –  8) 

18) 3 (6𝑥ଶ + 1)(𝑥 – 7) 

19) (3𝑥ଶ +  5)(2𝑥 +  7) 

20) 6 (2𝑥ଶ–  5)(𝑥 +  3) 

  


